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Eva is performing a column subtraction with two four 
digit numbers.

The larger number has a digit total of 35

The smaller number has a digit total of 2

Use cards to help you find the numbers.

What could Eva’s subtraction be?

How many different options can you find?
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There are counters to the value of 3,470  on the table 
but some have been  covered by the splat.

What is the total of the counters covered?
How many different ways can you make the missing
total?
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1,235 people go on a school trip. 

There are 1,179 children and 27 teachers.  

The rest are parents.

How many parents are there?

Explain your method to a friend.
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Find the missing numbers that could go  into the 
spaces.
Give reasons for your answers.

____ − 1,345  = 4__6

What is the greatest number that could go in the first 
space?

What is the smallest?

How many possible answers could you  have?

What is the pattern between the  numbers?

What method did you use?
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Amir and Tommy solve a problem.

Amir

Tommy

Who is correct?
Explain your reasoning.
Why is one of the answers wrong?

When I subtract 546 from 
3,232 my answer is 2,686

When I subtract 546 from 
3,232 my answer is 2,714
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